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This table of ages satisfies all the conditions:

Assyrian Babylonian Carthaginian Egyptian Frankish Gothic T+
400 100 200 300 -1100
500 200 300 400 -1000
600 300 400 500 -900
700 400 500 600 -800
800 500 600 700 -700
900 600 700 800 -600

1000 700 800 900 -500
1100 800 0 900 1000 -400
1200 900 100 1000 1100 -300
1300 1000 200 1100 1200 -200
1400 1100 300 1200 0 1300 -100
1500 1200 400 1300 100 1400 0
1600 1300 500 1400 200 1500 100
1700 1400 600 1500 300 1600 200
1800 1500 700 1600 400 1700 300
1900 1600 800 1700 500 1800 400
2000 1700 900 1800 600 1900 500
2100 1800 1000 1900 700 2000 600
2200 1900 1100 2000 800 2100 700
2300 2000 1200 2100 900 2200 800
2400 2100 1300 2200 1000 2300 900
2500 2200 1400 2300 1100 2400 1000

Taking the current ages as 1-26 numbers and converting to letters, we get OLD MAN.



